
Size Description Thread Lengths
Standard .62 3/4” 1” 1-1/4” 1-1/2” 1-3/4” 2” 2-1/2” 3” 3-1/4” 4”

1/4” Hex Cap Screw GR5 ZC/RO 20 1117009
1/4” Hex Cap Screw GR5 ZC/RoHS 20 85743007 1101688 1117818
1/4” Hex Cap Screw 18-8 Stainless 20 1117816 85743006 1117010
1/4” Hex Cap Screw ASTM F593C 20 1117819
5/16” Hex Cap Screw 18-8 Stainless 18 1117804
5/16” Hex Cap Screw GR8 ZC/Y 18 1117045 40300737
5/16” Hex Cap Screw ASTM F593 18 1117803 1117059
5/16” Hex Cap Screw GR5 ZC/R 16 1117837
3/8” Hex Cap Screw GR8 ZC/Y 18 1117049 1117055
3/8” Hex Cap Screw GR8 ZC/Y 16 1117843
3/8” Hex Cap Screw GR5 ZC/RO 16 47012646 1117097 051166 1117000
3/8” Hex Cap Screw GR5 ZC/RoHS 16 40300056 40300054 40300058 05125 1117040 05128
3/8” Hex Cap Screw ASTM F593C 16 1117805 1117052
7/16” Hex Cap Screw GR8 ZC/Y 20 1217000
1/2” Hex Cap Screw GR5 ZC/RoHS 13 1117035
1/2” Hex Cap Screw GR5 ZC/RO 13 1117121 1117050 1117051
1/2” Hex Cap Screw GR5 ZC/RoHS 13 1117043 1117124 1117051
1/2” Hex Cap Screw GR5 ZC 13 1117036 051461
5/8” Hex Cap Screw GR5 11 40300259

ZC Zinc Coated
ZP Zinc Plated
Y Yellow

GR Grade

RoHS AS9100C 
ISO 9001:2008

ASTM F593C American Standards 
Measurements Specifications

Grade 8
Medium Carbon 

Alloy Steel

Grade 5
Medium Carbon 

Steel

Grade 2
Low or Medium 
Carbon Steel

Genuine OEM Parts   1.800.233.4823 www.morganolsonparts.com

HEX CAP SCREWS

1



DIA.
Standard Thread FIG. #8 #10 1/4” 5/16 3/8” .44 1/2”

NYLON LOCKING NUT, HEX 32 1 052266
NYLON LOCKING NUT, HEX 24 1 40301303
NYLON LOCKING NUT, HEX ZP 24 3 1117307
NYLON LOCKING NUT, HEX ZP 20 3 1117310
NYLON LOCKING NUT, HEX ZP 18 3 1117838
NYLON LOCKING NUT, HEX ZP 16 3 1117344
LOCKING NUT HEX FLANGE .44-20 OVAL 20 4 1217003
NUTSERT EXPANDING NYL .275 SQ 20 5 40900006
NUT NON LOCKING 24 2 1117303
NUT NON LOCKING 20 2 1117312
NUT NON LOCKING 16 2 1117316

GRADE 5
NUT STL LK LRG FLG GD5 .31-18 18 4 40100560
NUT STL HEX LK B ZP .5 -13 GR 5 13 1 1117283

18-8 Stainless
NUT SS LOCKING 32 3 1117347 1117699
NUT SS LOCKING 24 6 1103354
NUT SS LOCKING 20 6 1117336
NUT SS NON LOCKING 20 7 40100044
NUT SS ACORN LOW CROWN 20 8 40100061

Speciality
channel nut with spring  1 x 1-1/4” 20 9 47009988

NUTS
1 2 3 4 5 9876

ZP - ZINC PLATED

Genuine OEM Parts   1.800.233.4823 www.morganolsonparts.com 2



Length
Magna Lock Diameter Fig. .25 .312 .375 .438 .44 .5 .562 .625 .687 .75 .875 1”

HUCK R6-4 .188 1 1117084 1117061

HUCK R8-6 .25 2 1117087

PROTRUDING HEAD .25 3 40200304 40200634 40200303

FLUSH HEAD B6-4 .25 4 40200630

RIV AL BRAIZER HEAD .125 5 1117402 1117404 1117405 1117406

RIV AL BRAIZER HEAD .188 5 1117351 1117353 1117355 1117357 1117359 1117361 1117363 1117365 1117368

RIV AL BRAIZER HEAD .25 5 1117380 1117385 1117382 1117386 1117395

RIV AL BRAIZER HEAD MOD .25 5 40200213 40200214 1117409 1117410 1117408 1117869 1117390

RIV AL FLAT HEAD .125 7 85780100

RIV AL FLAT HEAD .188 7 1117434 1117436 1117438 1117440 1117442

RIV AL FLAT HEAD POP .25 7 40200630

RIV AL DOME HEAD BLIND .125 10 1117464

RIV AL DOME HEAD BLIND .188 10 1117456 1117457 1117458 1117459

POP AL open end blind .125 6 1117421

POP AL open end blind .188 6 1117456 1117457 1117459 1117458

POP CLSD BLACK 8 40200629 40200631

SNAP FASTNER 9 40900925

BULB TYPE BLIND w/WASHER .188 10 40200621 40200501

rivets
1 2 3 4 5 9876 10

Genuine OEM Parts 1.800.233.4823 www.morganolsonparts.com 3



Standard I/D FIG. 3/8 1/2 9/16 5/8 3/4” 7/8 1” 1-1/4” 1-3/4”
#10 TYPE B FLAT WASHER ZINC/ROHS .190 1 1117929

#10 X 1 FENDER WASHER ZC .190 2 1117950

#10 EXTERNAL TOOTH L/W ZC .190 3 1117971
1/4 EXTERNAL TOOTH L/W ZC 1/4 3 1117975
1/4 TYPE B NARROW FLAT WASHER 1/4 4 1117941
1/4 USS FLAT WASHER ZC/ROHS 1/4 1 1117953 40300918
1/4 F436 (A325) FLAT WASHER ZC/ROHS 1/4 1 40000047

FLAT WASHER .060 THICK ZC/RO 1/4 1 1117952

1/4 USS FLAT WASHER 1/4 1 1117885
5/16 SPLIT LOCK WASHER ZC/ROHS 5/16 5 1117965
5/16 USS FLAT WASHER ZC/ROHS 5/16 1 1117955

3/8 USS FLAT WASHER ZC/ROHS 3/8 1 1117957

3/8 X 1 FLAT WASHER 1/4 THK NYLON 3/8 6 40000038
1/2 TYPE B REGULAR FLAT WASHER 1/2 1 40000050
1/2 TYPE B REGULAR FLAT WASHER ZC 1/2 1 1117945
1/2 TYPE B WIDE FLAT WASHER ZC/ROHS 1/2 1 1117959

Grade 8
1/4    FLAT WASHER GR 8 ZC/Y 1/4 7 85761003
5/16  FLAT WASHER GR 8 ZC/Y 5/16 7 1117937

3/8    FLAT WASHER GR 8 ZC/Y 3/8 7 40000046 1117947

7/16  FLAT WASHER GR 8 ZC/Y 7/16 7 1217002
1/2    FLAT WASHER GR 8 ZC/Y 1/2 7 1117943 85761009

Stainless 18-8
#10 X 5/8 BONDED SEALER 18-8 SS .190 8 85761250 40000053
1/4 X 5/8  BONDED SEALER 18-8 SS 1/4 8 40000051
3/8 X 3/4  BONDED SEALER 18-8 SS 3/8 8 40000054
3/8 X 1”    BONDED SEALER 18-8 SS 3/8 8 40000055
1/4 EXTERNAL TOOTH SS L/W ZC 1/4 3 40000510

Speciality
WASHER NYLON .13 X .62 ID X 1.38OD 5/8 9 137147429

washers
1 2 3 4 5 9876

Genuine OEM Parts 1.800.233.4823 www.morganolsonparts.com 4



Length
18-8 Stainless Diameter Fig. .5 .625 .75 .875 1” 1-1/4” 1-1/2” 2-1/4” 2-1/2 3”

PHILlips TRUSS M/S 18-8 SS 8 - 32 1 1117716
PHILlips TRUSS M/S 18-8 SS 10 - 24 1 1117800 1117814 40300498 40300451 1117835
PHILlips TRUSS M/S 18-8 SS 1/4 - 20 1 1117857 1117784 40300453 40300454
PHILlips TRUSS M/S 18-8 SS 5/16 - 18 1 1117928
PHILLIPS FLAT M/S 18-8 SS 10 - 32 2 1117830 1117900
PHILLIPS FLAT M/S 18-8 SS 10 - 24 2 1117786 40300510
PHILLIPS FLAT M/S 18-8 SS 1/4 - 20 2 40300809 1117782 40300634 40300630 40300631 40300638
PHILLIPS FLAT M/S 18-8 SS 3/8 - 16 2 1117789
PHILLIPS ROUND M/S 18-8 SS 10 - 24 6 1117209
6 Lobe pan t/c M/S 18-8 SS 1/4 - 20 9 1117815 40300309

Standard Steel RoHS
PHILLIPS ROUND M/S ZC/ROHS   8 - 32 6 1117839
PHILLIPS PAN TEKS/3 ZC/ROHS 10 - 16 5 1117674
PHILlips TRUSS M/S ZC/ROHS 10 - 24 1 1117793
PHILlips TRUSS M/S ZC/ROHS 10 - 32 1 1117723 1117688 1117715

T/C - Thread Cutting
PHIL PAN       T/S TYPE A  ZC 10 8 1117680
PHIL TRUSS  T/S TYPE A  BLK 10 4 40300101
PHIL PAN       T/S TYPE A  BLK 10 7 40300503
PHIL PAN       T/S TYPE A ZC 12 8 1117666
6 Lobe pan t/c 1/4 - 20 9 85743152 1117668 40300922 1117684 40300042

1 2 3 4 5 9876

screws

T/C Thread Cutting 6 Lobe Type A

Genuine OEM Parts 1.800.233.4823 www.morganolsonparts.com 5


